e B I3(), v & 4 \ /o Yan, BT —
RN 10 \ 9364, | SN e B TR e T
| T ol / VT — &1 &7 w | ’
X T J 92g Q L ~ 75/ ¢ ‘f /
NN =\ - T BN S A 915 ’
NS 9z | | 925 ! T
N\ Y \\j-r-'—j__j"'?j.; \ e R LSS Lt ]
A W 9 | AR
] | \\ \ \ \ QJG — i ! | =
"-;/VA \ 1 L"’- i / \ \ i‘ b |
\/\ NS WA L 4 - | 923 | Ve T
\ s \ R 83 } 827 =
\ 4 |

s i e ‘i
s \ \ . -

., & | | . ‘
e - e e :, oo —y i | ) - | 2 -

) e ‘.‘ ‘ “» . r_/ ‘Il ) | | f i Qﬁn - I

e \ A , h ‘ \\ | 925 | 20 |

; e . \ A Wy \ 9‘54 SQ&\O%? Stm B \Jp\f 22 ' | ]

\ Q \\ \\ — A L \ "\ — 'E)N 300 UF?)i SN 16 5. @%E:.tﬁwé:ﬂ_f?ﬁ—:—ﬁ

- 87 \ ””-"// : “ \\}'/ O:); l“, _’,——:—\ ;’;}r:'?gl_%% ":',_:,T:T_ A__'*_‘:u:—_——;.u— S
Q@ 2.2 $tdkd B = - Y TN 300-RPESRTR Dt b — e ———

N 300, UR2, SN 16, dl. 3188 m \ ~ dless

N 300, UR2-SN12, d[.\\361,20 m, \ 6/1
00,UR2,dl. 52,86 m, 893, \

\
\
\
£
3
=
|
|
|

L 5 o ot C <T17.9%, DN 300, UR2

/
D dl. 7,04 1 3,5 % o 3003442 SN 16 26 m <= 17,9 %, DN 300, UR2
88/1 o A AN dl. 4,60 m <-- 17,9 %o, DN 300, UR2
dl. 5,91 m <-- 155,6 %o, DN 300, R2, 7 - » SO LSS e, ’

dl. 5,27 m <-- 144;2 %, D&\300, QJ\RQ‘ \ 690 ’\/

. \ .
] - 9 URS . \ =T W
; mﬂ\%;,z é@PN\%OO, u{gg = ®
¢S . 5
| . 8 ) Y 3
L ({p) ¥ AQ%“ e
i o
9890/7 <0101 B 5
AN K
5 o
(‘QQ/O _,_,.-—-"""H
QF // -—.-H‘_-_____,_a—» ;‘N —---__4__,.—“———#—:“:__:.”_

()

7L
SO0 3023Stokac LEGCEND.A %

B4 km 0,04286

DN 300, UltraRib2 - - . _
dl. 16,67m — PQ";NK% DESTOUVE kanalL.

&=y pn-'-F‘OJILw FELALN,™

//
—
/;/

- \

Lawal

2R e




